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I ’a mwn: next steps of nYpo:
a  When: he is 10 mnR away, they instruct him to confess, and show him the example of 13y (vv.1-3), whose sin was
atoned as a result (v. 3 — nrn ova)
b If:he doesn’t know how to confess, we coach him to say “may my death serve as atonement for all of my sins”
i /mi 71 if he was the object of mynmit o1y, he should explicitly exclude this crime
ii  orpom if so, everyone will see that to give the impression of innocence
1 Explanation: this will slander 772
(a) Story:man was convicted and he declared that if he is not guilty, his death should be a 1193 for all of his
sins; but if he is guilty, this death should not be a 0993 for all of his sins
(i) Response: they couldn’t recall him, as they had already convicted him; rather, they executed him and
the responsibility lay with the witnesses
1. Challenge: this is obvious
2. Answer: even if 01y retracted
a. Note: this is still obvious — 7211 1IN 1R W TINY 117
b. Answer: even if they gave a reason for their retraction, we ignore it
I Aggadic excursus on 3y nwynand his punishment (vo 4-27)
a  Including: quantitative and qualitative expansion of 13¥’s crime(s)
b Discussion of: who was present at his execution and why
¢ And:impact of his crime
i Along with: brief interpretation of passage in 'n ywn (interaction with 'n Rax qv)
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